SmallRig

Cage for Nikon Z élIl with MB-N14 Grip
R Z 6l fRRIE (RAEMAFHMB-N14)

Operating Instruction / #{E#&3|

Thank you for purchasing SmallRig's product.
RRBHEAIE SmallRig 7= &2

Please read this Operation Guide carefully.
ERAFRZE, BIFRATRIEES

Please follow the safety warnings.
BERAESRTITEERRFESINMERES.




In the Box / %55

Cage x 1
Operating Instruction x1
Guarantee Card x1

Product Details / F*fa M43

(1) 1/4"-20 Threaded Hole
1/4"-20 82805

(2) 3/8"-16 Threaded Hole
3/8"- 1642487,

(3 ARRI 3/8"-16 Locating Hole
FI3E (ARRI) EALFL

(%) Arca-Swiss Quick Release Plate
P AU BR2EAR

(®) Cold Shoe Mount

A
<

ARAE x 1
BIEESI x 1
R+ x1

SECES]

(&) Strap Slot
B/ EEN
@) Qb Socket
QD #N
Dual-Head Wrench
WLiRF
(9 M2.5 Screw
M2.5 4244




Cage Installation Instruction / {ABIER B

1. Remove the both sides split D-ring before installing the cage.
1. BN .

* The package does not
'} include the camera
*HENNEH S Y

2. Put the camera into the cage from back to the front.
2 BN EERIAEYARIE.

b | The package does not
include the camera
*ENNEESM




3. @ Install the cage via tightening the 1/4"-20 screw and locating screw.
@ Remove the two M2.5 screws at both sides of the cage, then pass
the M2.5 screws through the shoulder strap holes on both sides of
the camera and tighten them onto the cage.

3. @ ITRRER/4'-20 1822, PUREERRIE,
O BT ARERMBIREAM2 51842, SAFEM2 5882253 5] ST AaHL

* The package does not

= include the camera
° I ; *ENNEESE
Specifications / = REE
Product Dimensions 6.0x6.5x 2.7in
FRRYT 153.2x 164.9 x 69.1mm
Product Weight 7.7+0.20z
FRES 219.0+5g
Material (s) Aluminum Alloy
FEBME BEE
B8k
Rk
PAP
—
HUTARAE: GB/T 26572-2011 hE4E

LQ-P1271-18 Made in China




